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L T T
fED | o N B O N N " N N B
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BEEILE 75 52 23 442 65 55 10 18.2 86.7 105.8 -19.1
S PN 3 5 -2 -40.0 3 6 -3 -50.0 100.0 120.0 -20.0
m &R 7 5 2 40.0 6 6 0 0.0 85.7 120.0 -34.3
) P 3 3 0 0.0 3 3 0 0.0 100.0 100.0 0.0
TRIEMRSE 17 8 9 1125 10 8 2 25.0 58.8 100.0 -41.2
BEFEHE 5 5 0 0.0 5 4 1 25.0 100.0 80.0 20.0
FREDHLLED 40 26 14 53.8 38 28 10 35.7 95.0 107.7 -12.7
FEGEID 334 331 3 0.9 311 144 167 116.0 93.1 43.5 49.6
BAE 318 290 28 9.7 300 130 170 130.8 94.3 448 495
FEXR 167 147 20 13.6 142 42 100 238.1 85.0 28.6 56.4
salil 151 143 8 56 158 88 70 79.5 104.6 61.5 43.1
BEjEE 3 19 -16 -84.2 7 5 2 40.0 233.3 26.3 207.0
Vo7=KY 3 3 0 0.0 1 4 -3 -75.0 33.3 133.3 -100.0
EN) 10 19 -9 -47.4 3 5 -2 -40.0 30.0 26.3 3.7
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AB (%) N (%) N = (%)
FEILE 53 49 4 8.2 47 38 9 23.7 6 11 -5 -45.5
= A 2 5 -3 -60.0 2 5 -3 -60.0 0 0 0 0.0
R 8 8 0 0.0 6 6 0 0.0 2 2 0 0.0
)i G 4 2 3 -1 -33.3 2 2 0 0.0 0 1 -1 -100.0
FTREEMXRSE 12 6 6 100.0 10 5 5 100.0 2 1 1 100.0
BRERERIR & 4 1 3 300.0 4 1 3 300.0 0 0 0 0.0
FREEDHLLED 25 26 -1 -3.8 23 19 4 21.1 2 7 -5 -71.4
BEEGZEID 58 53 5 94 56 52 4 1.7 2 1 1 100.0
BAE D2 46 6 13.0 50 45 5 11.1 2 1 1 100.0
FEXR 21 19 2 10.5 20 18 2 11.1 1 1 0 0.0
kil 31 27 4 14.8 30 27 3 11.1 1 0 1 0.0
BEjEE 4 3 1 33.3 4 3 1 33.3 0 0 0 0.0
W-o1=<KY 1 2 -1 -50.0 1 2 -1 -50.0 0 0 0 0.0
EN, 1 2 -1 -50.0 1 2 -1 -50.0 0 0 0 0.0




